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7 151400AAx BF%E [PHMRHRC 5 2.59.00 8] 1305[hE ErE |05, FKSC 5 30127
9] 1605|&¥ Tk [FRU—hxwt 5 3.02.27 10]  1523|#K F1fE | K&SC 5 3.03.23
1] 1819|A&A BfE  [FIWEEHIST 5 3.04.13 120 1217|MEE FBE [X K 5 3.04.74
13| 1318|@E+ ®& |D&D 5 3.05.87 14 1318|A#x BE |D&D 5 3.11.56
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3| 11043l R—KR [EEHIST 5 24818 4] 1217[F Pk Rk [ K 5 2.52.31
5] 1301+ Bm |2XEAC 5 2.57.09 6] 1305[mJIl HBE  [0ehKSC 5 2.57.80
7] 1121[¥E® FE  [HRJ 5 2.58.55 8| 1200[3E@ RE |[EAC1=—7 5 3.00.46
9 T701|fHE & JACRE 5 3.02.76 10| 1801[EF gE#H  [&I<hJAC 5 3.04.87
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73] 1819|= F ﬂfﬂ SLLEESST B 3.20.40 14] 1819/hfE FEN  [RLBEESST b 3.26.58
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21 1311|AJIl Rt R EKSRC 4 13.59 2| 1323(&FM & FE5EAC 4 13.90
3| 1305|ME #&F [UohKSC 4 13.80 3| 1702|HE FI& |RMFZYTL 4 14.21
4] 1702]BHE 0 [RMNTYTIL 4 13.99 4] 1801|XAR EZE [RIZHJAC 4 14.32
5| 1216[EK ®<x# |AEAC 4 14.13 5| 1602[FJIl #8 |RAZESRC 4 14.32
6| 619160BR #IL |[BFRE—(FE) 4 14.30 6] 1200/MER E¥ [BXAD2=T 4 14.41
7 1301[3BE &y [3XEAC 4 14.90 7] _1602[lLO B4 |RAKZESRC 4 1451
8] 1203|%E# k= [HEREAC 4 15.06 8] 1318[AX By |D&D 4 15.28
1401 |& 0 oE  [E= 4 13.31 4] 1] 1602[F82 F#&H |RAESRC 4 12.92
2| 1305[luE —% [0ohFEKSC 4 13.56 2| 1301[lu&x EnF [2REAC 4 13.43
3| 1311[EFH FER [ZEKSRC 4 13.58 3| 1605[ER HBHE [ZRU—hFRuk 4 13.50
4] 61237|HAN FE —EWIAT&FE) 4 13.97 4] 1305|@8 &L [U5h7KSC 4 13.60
5| 1602[&A& min [RAZESRC 4 14.56 5| 61916[FEE MIHE [B¥RE—F) 4 14.19
6] 91910[FJIl & |==ELI7T(X) 4 14.58 6] 61901 |#MAF T8 |[mEP2=7EF) 4 14.51
7| 1104|5% R [BEEIST 4 14.62 7] 1216[BE B HEAC 4 14.81
8] 1200[ATF BE [BXDa2=7 4 14.75 8 13T1|HH | XEKSRC 4 16.17
1| 1801[HEH YttE  |[=IZHJAC 4 12.96 6] 1] 1311[JI#E mED |RREHKSRC 4 13.48
2 1201 F = WHSA=7 4 13.47 2] 1602[skpE 5 & |RA=ESRC 4 13.65
3| 1200[E@A kF¥E [BAD2Z7T 4 14.65 3] 1305[&JI —% [0eAFEKSC 4 13.73
4] 1702|M T EfE [RM7vTIL 4 14.78 4] 1104|HEEE &£ [BEIST 4 13.85
5| 61916|XE Ut BERE—_(G 4 16.19 5| 61237[H/E MEE [—£HtT&F(R) 4 14.07
6] 1602[FAt B R AESRC 4 16.47 6] 91910[Fd ALl [=xBEs57(F) 4 14.80
14010 KA [BBJIE 4 DNS 7] 1702[EXR Fik |RMFYTIL 4 14.95
1318[Mf gk |[D&D 4 DNS 8| 1401[8r% =t [EJIlE 4 16.60
1 1602|5IH E% SR ARESRC 4 13.34 8] 1 18015 I8 EN |&IChJAC 4 12.74
2| 1305[&E F¥& [0oh7FKSC 4 13.91 2| 1201[3&H WHS1=7F 4 13.42
3| 1606[HFH O |7 AU—FFRUk 4 14.42 3| 612374l &FF |—&£BIT&FEx) 4 13.62
4] 61901 [fERIL = |[mE -7 4 14.50 4] 91910[=8F K& [==BE/57F) 4 13.64
5] 61910[aTH E# |FhAEBELG) 4 15.39 5] 1200[&@ H$x |BE4ACa=7 4 13.71
6] 61916|FMH =R [BFEREF_GE) 4 15.54 6] 1702[F& ¥ RIN7VTIL 4 14.16
7] 16024t MkE  [RKESRC 4 15.78 7] 61916[/3# AFE [EFEE=—() 4 14.80
1618[7h/> FUR [LEAEH 4 DNS 8 1318[#iH =RF [D&D 4 15.36
1] 61201 H BE |[s/hEGR) 4 12.42 10 1] 1702| A8 REB|RMNTFTVTIL 4 13.50
2] 61916 H T |[BFRE=—(R) 4 13.88 2| 1602[F =& [RAZESRC 4 13.53
3| 61237(FFH BA&k | —FHitT&F (&) 4 14.00 3] 91906|FH & |BERAE) 4 14.58
4] 1311JilhA EE  [REFKSRC 4 1451 4] 61916[# ENFHF [BFRE=—(R) 14 14.87
5] 1602|&M =F [RAZESRC 4 14.56 5] 91910[ILF Bk |[==BE/STH) 4 14.94
6] 1120(h% #EF [EdhFvyT 4 17.08 6] 1305[@A BExE [05h7ZKSC 4 15.03
11217550 BB [HRJ 4 DNS 7] 1602[/\f #F |RKZFESRC 4 16.20
1] 619160 52  |[EERE_(GF) 4 13.21 12 1] 1311|&A =¥  [XEKSRC 4 12.71
2| 1200[&h B EXSa=7 4 13.40 2] 61916[=H #F |[BFRE—) 4 13.50
3] 91910[#% & ZEELISIE) 4 13.51 3| 1301[#/E %3 |2XEAC 4 13.63
4] 1602]&£R FB [RAZESRC 4 13.73 4] 61201[7%& R  [mIEGR) 4 13.77
5| 1702[&N ¥ REMTVTIL 4 14.42 5| 1216[E& #k |AEBAC 4 13.98
6] 1801[A# #&E |&I<hHJAC 4 14.58 6] 1602[#&X £t [REAZESRC 4 14.64
7] 61916|f38 BH [BERE_(E) 4 15.24 7] 1523|AR Ex [ A%SC 4 16.25
1] 1201[MHE A% [WHE>1=—7 4 12.71 14 1] 91910|#H &% [=EEFISI(EH) 4 13.08
2] 1702[8K B  [RMTYTIL 4 13.31 2] 1602[FBER W5 |RAZESRC 4 14.07
3| 1705[lLMA BBTE  [BREEZ FRKyN-Z 4 13.66 3| 61916[85K & EEEeE_(5) 4 14.02
4] 91910|AKN B=E [==BEISTIE) 4 13.98 4] 1104[FH2E BF [BEEIST 4 14.30
5] 1602[&¥% EF |RAZESRC 4 14.20 5] 61916[7AN &n |[EFRE—(E) 4 14.56
6] 1311[EEE #=E [XXEHKSRC 4 14.22 6] 1200[B& #®F [BAXPa=7F 4 14.78
7] 1602[f8@ #x%x [RKZSRC 4 15.27 7] 1401[FEH FELE  [EBIIE 4 15.11
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1161201 [2H ZE |Z/EG) 4 12.42
2] 1602 [B2& %= [RAESRC 4 12.61
3| 1201 |[MH B®& [®kECa1=7 4 12.71
3] 1311 |#&AN =B [XEKSRC 4 12.71
5] 1801 [JBiI® 2 [AIzhHJAC 4 12.74
6] 1602 |FEE %& [RAESRC 4 12.92
7] 1801 |BEM YttE  [AIZHJIAC 4 12.96
8] 01010 [MH &% [==BF/STIE) 4 13.08
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3| 1201|F@A #E [RAP21ZT 4 12.22 3| 1705[ME BX [RE7IAkyn-Z 4 13.90
41 61916|F% HM BERE_(F 4 14.37 4] 1121]#S #k [HRJ 4 14.28
5| 1203k AR [HEAC 4 1451 5| 1200t &H |EXPa1=7 4 14.32
6] 1305[HE W= [0oAFKSC 4 15.45 6] 61916[EIl &% [BEFRE—(R) 4 14.99
7] 11215 &%  [HRJ 4 15.78 7] 91910[k2& BN |==BE/57(&) 4 16.38
8] 1200|@H* =¥ [EXP2=7F 4 16.09 8] 1203[mn#s Fx3lL |HRAC 4 DNS
11 1318 EAJII % [D&D 4 13.47 4] 1] 1705k =—H81 Ry sAhun-A2 4 13.01
2| 1216]m@k t##KX [FEAC 4 13.49 2| 61916[#EE & BERE_(F) 4 13.14
3 1121[#%E8 E&k  [HRJ 4 13.86 3| 1121[EBxr K5 [HRJ 4 13.52
4] 1705| B SRIAER [REY IAKyN-Z 4 14.08 4] 1216|851 Hts [HEEAC 4 13.69
5] 1203[£8 #®3i [|HEAC 4 14.24 5 1121[%&A& #EX [HRJ 4 13.92
6] 919103 #EX ZEELYSIE) 4 15.08 6] 61916|=@ #HE [BFRE=—(F) 4 14.26
7] 1514[WuB8 K& [PERBHRC 4 DNS 7] 1201[E#E ##  |KREAYa1Z7 4 14.82
8] 1201|FH =M [KHEY2-7F 4 DNS 8] 1514[EH BI= [HBEHRC 4 15.05
[ 110413 =B |[BEEIST 4 13.70 6] 1] 1301[iEHH #EFH [3XEAC 4 12.73
o 61916|H F EEE |EohE—_(2) 4 13.71 2| 61916|AH EE [B¥EREE—(F) 4 13.21
3| 1121[#@% KB8  [HRJ 4 14.07 3| 1121[#8 B4 [HRJ 4 13.69
4] 61916|AM =B [BFRE—_(G) 4 14.79 4] 13110mE B2 [ZREBKSRC 4 13.84
5| 1121[%&8B B4 [HRJ 4 15.03 5| 1523[EF AN | K#SC 4 14.31
6] 1203[/NBR Eisk [HJEAC 4 15.13 6] 61916[5%% BN [BFRE—(F) 4 14.78
7] _1705[84A #—K [RE7 FRkyN-Z 4 15.85 7] 1624[#\8 #FD  |RAERI—LZX 4 14.79
8] T1201|fEH BA [®EYa2=7F 4 DNS 8] 1203[#kxt ZE [HEAC 4 14.95
1| 1623[iA &K [ AHSC 4 12.34 8 1 11213k3F AKX _ [HRJ 4 12.70
2| 1605[dhl M |FARU—=hFwb 4 12.92 2] 61916[KAR =—8[EBFREE=—(F) 4 13.27
3 112188 = HRJ 4 13.49 3] 91910[FA&E & ZEELISIE) 4 13.32
4] 1301[#3# XZE [2XEAC 4 13.56 4] 1311[R# A ZBKSRC 4 13.73
5] 1311[/ME XN [XEKSRC 4 13.58 5] 1301[#%# AN |[2XEAC 4 13.77
6 1121|F# BHE  [HRJ 4 13.80 6] 1605[ME #tF1 [FRU—bxwk 4 15.08
7 1624[fx0 B— [RAFN)—LR 4 14.78 7] 1121[3¥8 A% [HRJ 4 16.53
8 6101688 - |Brhe—(G 4 15.59 8| 61016|EM EE |BFEE_G 4 DNS
1] 1305|#MA8 MmARR |06 7=KSC 4 13.04 10 1] 1819| KR &4  [HAIUEESIST 4 12.02
2| 1523[A{R F1¥E [A#SC 4 14.23 2| 1217]@EHE 7E |k & 4 13.61
3] 61916(85FE HT [BERE_(F) 4 14.36 3| 61916[EH £2&F [BFEE=(xm) 4 13.67
4] 1121|EE I HRJ 4 14.60 4] 1306[%® WA [0ohF=KSC 4 13.82
5] 91910[FE BE |[==Bt/57&) 4 14.73 5| 1605[H#E EE [FARU—FXUk 4 14.18
6| 1121[88 # HRJ 4 14.77 6] 919103 E ZEELISIE) 4 14.79
7| 1605|MME FE [FRU—hkRvk 4 15.01 7] 112182 FE [HRJ 4 15.20
8| 1217|pE HiE x_A 4 15.43 8] 61910[XAMRE BE |FhHWMBEFG) 4 17.22
T 919100k & —EELYSI(E) 4 13.35 12| 1] 62001854 #A3F  |HOPESPORTSCLUB(R) 4 12.79
2| 1203[g1E E¥ [HIEAC 4 13.65 2| 61910[m# HiE [=huisEL(E) 4 13.56
3| 1624[aK E VoA KSC 4 14.18 3| 1203[FE BAES |[HEAC 4 13.89
4] 1121l =H  [HRJ 4 15.35 4] T121NE #& HRJ 4 14.77
5| 1121[#0 &x  |HRJ 4 15.57 | 1217[98 EE  |&k K 4 14.99
6] 61910|8a0 BA [FhAHBELG 4 15.87 6] 91910[IE &3F [==Bt/57F) 4 15.20
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2| 61201FBE =8 [sUhEED) 5 16.08 2| 1305|mE = VoA =KSC 5 15.53
3| 1200|=8 xM  [BERDa2ZT 5 16.21 3| 1702[lu=& ;&:—; SEM7TVvTIL 5 16.01
4] 11211 EB & HRJ 5 16.96 4] 91303[@@#F BERF [SIL¥F—uzA(XH) 5 16.40
5] 1305[/ME = |[0eAFEKSC 5 17.63 5] 1201[k® BE |kED1=7 5 16.46
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3| 91303[1EIE #& SLEF—9A/(E) b 16.31 3| 1217[4E BxE  |[&Xk K 5 15.50
4] 1104])I FE  [BEEIST 5 16.40 4] 91906[#&z@ & HR(Z) 5 15.70
b| 130b[HF EF#E [UHH7KSC 5 17.21 5| 91303[#AX mE [ELF—uzA(H) b 15.79
6] 1203[EMH T HJEAC 5 17.67 6] 1819[WuiA mZE  [HWBEESST 5 17.63
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5l 1] 1217[5H AXRE [% K 5 15.31 6] 1] 1705[A® 1% [BREY IAKyN-A b 15.85
21 91910[F+ MMIE [=EBE/5T(H) b 16.07 2| 1605[1luE KB [ZFRU—FFRYL 5 16.21
3| 1801 [#MA BAEE [RIZHJIAC 5 16.09 3| 1200[F&X #EXR [BEXC1Z7 5 16.58
41 11193k =8 |HFRE 5 16.23 4] 1121]8# o [HRJ 5 17.08
5| 1623[kJIl ER [X&SC 5 16.69 5| 13050 mkfg  |0eh7EKSC 5 17.23
6] 1305[&H &;fawfa VoA =KSC 5 17.33 6] 61916| LM X |BFKREFE_(EF 5 17.30
71 1305(%)I £ VSN EKSC 5 17.55 7] 1602[F)I oY [RAZESRC 5 17.66
8] _1203[/\ik %BE HFEAC 5 17.61 8| 1849[BE % JXLF—h 5 17.67
7| 1] 1605| =& 7 X =Rk 5 14.79 8] 1] 1200[&3# HXx=x [EACa1Z7 5 14.56
2] 61201t/ %DJr NEGR) 5 15.19 2| 11218 52 [HRJ 5 16.02
3| 1217[&F#F Kb [&E K 5 15.48 3| 1849[##h FK |[URXLT—k 5 16.15
4] 1216|mR &&= [HHEAC 5 16.45 4] 1305[luA =R [U5HhKSC 5 16.21
5| 1801[HF HE |&IchJAC 5 16.99 5| 1203[H0)I E&  [HEAC 5 16.54
6] 1701[8#% k7 [JACRE 5 17.14 6] 61916|A)I B [BFRE=—(G 5 17.92
7] 1305[#3# BE [UoAEKSC 5 17.27 7] _1602[ILE &% |RA=ESRC 5 18.31
1119|588 T3 |HAR/R 5 17.35
9] 1] 1201[#H & [WwHDa=7F 5 15.51 100 1] 1217[8F/ ¥@E  [F K 5 15.72
2| 1305|B# ®# [UohKSC 5 15.72 2] 1119][& mpsx BHAAE 5 16.35
3] 91303 #EER [SLF—0A/(F) b 16.18 3| 18494t M [UXALTZ—k 5 16.46
4] 1301|EHA =4I [2XEAC 5 16.66 4] 1514[MaE ZEE  [PRBERC 5 16.73
5] 1801[fE&R ¥E |&IzhJAC 5 16.97 5| 1203[#.E ®x [HEAC 5 17.56
6] 1705|% M E#F [REIIAKyN-Z 5 17.56 6] 1305|AE %% [05h7KSC 5 18.30
7] 1819[4c® O [UBEESST b 17.92 91910[7M /NB  [==BEES5T(E) b DNS
T[] 1305/ &5 [Uoh=KSC 5 16.47 121 1801[H# FErE [RIZHJIAC 5 14.82
21 1121~ =¥ [HRJ 5 16.58 2] 61201[E@EN EHE [mIBEGR) 5 16.38
3 1705(A4 & RES SARyN-Z 5 17.23 3| 1305[%H Ys U5 =KSC 5 16.55
4] 1605|/ & 5% |FARU—hFRvk 5 18.67 ANEIEEEIEE TS 5 16.67
5] 1819|g@mE #fE  |[hWBEESST b 18.89 5| 1523|AR #®&E [ A%SC 5 16.81
6] 1602[/E BEH [RKZESRC 5 19.30 6] 1216[&E EF [BEBAC 5 17.25
91303[;ZH # SLEF—T1/4(F) b DNS N EZ N =N EES 5 DNS
"R * BHDHREL—XOERLST
IEf] ®E | K % FRZ 3 SChk
1] 1801 [BTH &M [=RI“HJAC 5 13.86
2] 1200 |@E¥# BFx [EXV2ZT 5 14.06
3| 1801 |KARE ZFK |AIZhHJAC 5 14.28
4] 1801 &4 ErE [ARITHJIAC 5 14.42
5| 1605 |Z% H3 |[F7ARU—hxwb 5 14.73
6] 1305 =i B#F [U5h1KSC 5 14.95
7061201 [ 2 [mU/NEG) 5 15.10
8] 1217 |5H kaRE |k 4 5 15.15




KiR5E2[E5E8%% RESULT 20140517

_ b#EF+ 100m
e 1348 _ _ _ _ _
[ 1| & BEF K 4 g% 2 8% MlE] RS | K £ PB4 2 8%
1 1 1201 [HA 2 WHY1=7 5 14.93 2] 1 11211 K& K HRJ 5 15.55
2| 1200|E% &= EXSa=7 5 15.08 2| 1104[{HE W& EEYIST 5 15.93
3 1801|&+F # RIZhJAC 5 15.50 3| 1301 ([prsp sk JXEAC 5 16.18
4] 1216|#8% 48k [FEAC 5 16.21 4] 1618|/NEp 3 MEER [DLBREE 5 16.50
5] 1203(EH = HIEAC 5 17.06 5| 61916[F1R e EBERE_(R) 5 16.53
6l 1217|Rik #B%F * K 5 17.85 6] 1305|ARN ER Vo 7=KSC 5 16.69
7] 1624/ME A |RKFEN)—LRX b 18.39 7 1217 EE BEER O [E K 5 16.88
8 1121(1% —H& HRJ 5 18.51 8] 1216[E4t F0iE HiEAC 5 17.11
3] 1 1605 |5 — % 7 A=k vk 5 15.44 4] 1 1801|/4T EBHR RIZHJAC 5 15.00
2| 1305|#¥AH EEthR D =KSC 5 15.70 2| 1618[FE XE KA 5 15.52
3| 1216|p% RAEBR |F1EAC 5 16.18 3 T121[ERJI K&t [HRJ 5 16.22
4 1121|BEx 8K HRJ 5 16.44 4] 1203 KB KX HIEAC 5 16.38
51 1121[MF sk HRJ 5 16.67 5[ 61237[#M\F EBARED | —&HWIT&F(E) b 17.07
6] 91910z db3t =ERELEISTE) b 17.28 6] 1216|FAF BX H1EAC 5 17.31
71 61910|dt4 B FREEEF(E) 5 17.55 7] 1318[EE & D&D 5 18.55
8]  1849[F/R#¥ EiD YR LT —hk 5 DNS 8] 1201[#EA B2B& WHYa=F 5 DNS
bl 1 1121 HME EX HRJ 5 14.69 6| 1 1201[51H [Bm WHS21=T7 5 15.13
21 1217|hE =5 xR 5 14.85 2| 1121[/NE B HRJ 5 15.87
3] 1120|1LA HX BhxFvS 5 15.48 3 1216[)IlE KBRS | FEAC 5 16.11
4 1104|%8%E =iH EESIST 5 15.54 4] 61910|RN HE FEPBELEGE) 5 16.36
5] 91910[Kh wE =ERELEISTE) b 15.92 5| 1305[&JIl & Vo 7=KSC 5 16.47
6] 1200|MAE =& |BACa2=7 5 16.41 6] 1203[;kH #5t |HEAC 5 16.92
7 1301 |/ H BEE JXEAC 5 16.87 7 1605|B% k& 7 A )—hrowk 5 16.98
8] 61916|EA j#H [BPRE_G) b 18.93 8| 1624[fFEH FEXA [RAZFEN)—LR b 17.85
7 1 1605|#a—) v+ |7 A )—kARyb 5 14.28 8] 1 1305[F8 BRI Uohf=KSC 5 14.84
2 1514 B Bk PERERC 5 14.73 2 1849|5A14 Bft YRXLT—b 5 16.24
3 1216[3E EE FEAC 5 15.37 3 1121{&K H3 HRJ 5 16.41
4 112158 S HRJ 5 16.30 4 1200[12M@ BZE EXSa=7 5 16.98
5 1217[FH BX * K 5 17.26 5 11215550 XXX HRJ 5 17.11
6 1301 [FXR HA aRXEAC 5 17.68 6| 91910|48H & =LY I(E) b 17.31
7 1618|5E IF= FEBREE 5 DNS 7] 61237[#%E &KH ZEEHAT&FGER) 5 17.32
8l 61016|E= e |[B¥RE_G b DNS 8| 61910[AR & FEHMBEEEG) b 1817
9 1 1201|3R Kith WHY1=7 5 14.23 10 1 1701|[MA X JACRHFE 5 14.78
2 1203[h)I] &EZ& HIEAC 5 15.33 2 1217|913 BX * K 5 15.21
3 1801 [5&M = IZHJAC 5 15.35 3 12161l E g3} HiEAC 5 15.24
4] 1200[#cF #RER |EAD2Z7T 5 15.55 4] 91910[8K BEILK |==ELI57(F) b 16.00
5] 1618[&JIl # YEHERE 5 16.76 5[ 1301[#{E B—8 [OXEAC 5 16.87
6 1121 KN E£X HRJ 5 16.83 6 110418 X& EEHST 5 17.51
7 121680 &EaR FEAC 5 16.97 7 1121|&2H ZXER |HRJ 5 18.34
8l 1217[FERM RmE *x_K 5 DNS 8] 61916[HJII AR [E¥kRE_( 5 19.04
11 1 1305|= K ¥t Vo f=KSC 5 15.19 121 1 1801 [Iu K¥E RIZHJAC 5 14.58
2 1605| == ZHt 7 A —h 2ok 5 15.34 2 1216|FT K& HiEAC 5 14.90
3] 1121|Xk8 =N |[HRJ 5 15.60 3 1201[%hpE B8 |KREADaZT 5 1499
4 1216]JII.LE s FEAC 5 16.04 4 1121|HE E& HRJ 5 15.40
5 1201 [&% EA WKHY21=7 5 16.34 5[ 61916[;TIB XKEF |E=xkRE—(R) 5 15.71
6] 91910[5Fk E3L ZxEREEIST(E) b 16.62 6 1618[FA BiE KBAEE 5 15.76
7] 61910|E #E% FaWEELEGE) b 17.27 7] 61237[lLE Rk ZEEFAT&FGEE) 5 16.00
8 1203| B 1% HIEAC 5 17.96 8 1203|m[1E HERA HIZEAC 5 DNS
13| 1 13013t &R JRXEAC 5 16.06 14
2] 91910|EMA $E—8 == t757(=) b 16.40
3] 1104|/NBpR 52 EEHIST 5 16.69
4 1623|848 A R#SC 5 17.31
5 1121[3EK R HRJ 5 17.35
6 1200|2c ME EBXRS2Z7T 5 17.81
7] 61916|MA B [BH¥RFE_G) b DNS
R *BHIDHEREL—ADOERLED
EL] B2 | K % R % = i
1] 1201 [ZER Kith WKH 21=7 5 13.68
2| 1605 [#o—) Ao+ |F7R)—bFRyb 5 13.98
3| 1305 |l BE¥E VDo 7=KSC 5 14.28
41 1121 |HE EX HRJ 5 14.46
5| 1801 |l XiE RIZhJAC 5 14.56
6 1217 |9&E E8 *x_K 5 14.75
7 1801 |d#f EEHR RIZHJAC 5 14.77
8] 1701 MK X JACRE 5 14.86
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_ 1
=5 1248 _ _ _ _ _
& _KE % Fil=E2 2 L8k | & EE FE% E s
1 BEEEE WKH 1=Z7 6 13.95 21 1 B RZE SILF—0IA(F) 6 14.20
2 Al FUNE(R) 6 1413 2 =R F0h |BEXTa2ZT 6 14.22
3 AIE YR LT —h 6 14.41 3 =ik HE RAESRC 6 14.90
4 WE RRESRC 6 16.23 4 M HFN EIMT7vTIL 6 15.40
5 #0H =757 6 16.37 5 N ERE |REaA=T(ER) 6 15.47
6 R&JI B8 EXSa=7 6 16.56 6 EIATE 2 ZEEHALT&FGR) 6 16.36
7 EER HiEAC 6 16.79 7 FH EiE |2HXFyS 6 16.81
8 hEH 2% [0LAEKSC 6 17.06 8 EX pnE |BFRE_(F) 6 18.66
1 200| A EXSaZ7 6 15.18 4] 1 B ES Vo 7=KSC 6 15.08
2 217[;HE * K 6 16.14 2 2B 57 NEGR) 6 15.31
3 216|#0H 3 FEAC 6 16.32 3 EE TX HiEAC 6 15.46
4 819|870 Sl ES5T 6 16.32 4 =VHA ¥EE |RXKESRC 6 15.98
5 605 KFE 7 AJ—=hwk 6 16.84 5 ER & HOPESPORTSCLUB(®) 6 16.09
6 305|78 E& Vo =KSC 6 17.65 6 AR HXE R#SC 6 16.51
7 910|578k FawEELEG) 6 17.75 7 Mg EXSa=7 6 16.54
602|F:=E R AR FESRC 6 DNS 8 WH B [—£BIkT&FG) 6 18.00
1 217[;H *_K 6 15.0 6| 1 ItH #BH R/NEGR) 6 14.50
2 910|% 5T =EELIST(E) 6 15.1 2 {BK B =977 6 14.61
3 104|A&H EESIST 6 15. 3 A BH 7 A=k vk 6 15.30
4 303 At SILFEF—0A/(F) 6 16. 4 Ng TF Vo 7=KSC 6 16.05
5 819|870 HIEESST 6 16. 5 R R EXSa=7 6 16.27
6 910| A7 B | FamERE (R 6 16. 6 e BE |RKZESRC 6 16.66
7 =28 EchxFvS 6 16. 7 EHF KT YRXLT—b 6 16.67
Hm HiE | RAESRC 6 Bix b=& |FEBAC 6 DNS
1 A BE |[mE#Ta=TEH) 6 8] 1 FE BEKX |UXLT7—h 6 14.20
2 BA R KESRC 6 2 A HEK  |WHYa=7 6 14.73
3 N EXDAZT 6 3 hE A= HiEAC 6 15.02
7 205 SILEFE—9/(F) 6 4 HTE BE |RAZESRC 6 15.75
5 W EMNTVTIL 6 5 HE ZDH [FTAJ—FFRyb 6 16.12
6 fE3E EB¥RE_(R) 6 6 AH BE |[BRSa=T 6 16.22
7 B+ E2hxFyS 6 7 BE ZE  |FhAREBELGE) 6 16.56
1 B =/NEECR) 6 10 1 M ¥ EEIST 6 14.06
2 EH SILEF—0A(F) 6 2 & =& HEE4EAC 6 15.17
3 =X R KESRC 6 3 HiE T& EXSa=7 6 15.19
4 E HOPESPORTSCLUB(R) 6 4 Fl FTBE |Z==EE/57(E) 6 15.23
5 =8 HBF |[ZEBWIT&FGER) 6 5 [ * K 6 15.50
Mg Vo f=KSC 6 6 B FEWBEELFG) 6 16.85
HE R#SC 6 7 NF E RAZESRC 6 16.86
1 KEH =k WKHS1=7 6 12| 1 He ¥E EhXFxvT 6 14.84
2 e 3 U5 =KSC 6 2 A x ERTa1=7F 6 14.98
3 BEED T/NEE(R) 6 3 gl BF |BM7ZYTIL 6 15.00
4 ERR YRLT—hk 6 4 | fTEE =EREEISI(E) 6 15.35
5 &*H RKFESRC 6 5 B kRZE SILE—9xA4(F) 6 15.79
6 PN} EXSa=7 6 6 BE ES RAZESRC 6 17.03
A JXEAC 6 7 HE BE |BFRE_(R) 6 17.42
* BELHREL —XOBEREET
[[Eiva Jid Fil=E4 - EC 5
1 EEEE WHYa1=7 6
2 M S EEXI5T 6
3 A FUNE(R) 6
4 FiE 2 YRXLT—h 6
5 Afd BE [m#T2=T7(EH) 6
6 = EXSa=7 6
7 [EES =777 6
8 &HA SLEF—914(X) 6
TIFE YR LT —h 6
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) 6EEF  100m
EBE st _ - — - -
| 1B | BES K _# FEA Ed L% #MlE]l F5 | K _# FE4 £ L%
T 1] 1801[de&8 K# |[RIZHJAC 6 14.54 2 1] 1216|)BK #B% |HEAC 6 14.32
2 1217\ E *_A 6 156.10 2] 1104|=n BXAR [BEEI5T 6 16.00
3] 1849[EH X YA LT —h 6 15.57 3| 1305[kE AMA |[UohfzKSC 6 15.46
4] 1301|%mk B [JXEAC 6 15.72 4] 1819|.ERI AKX [HILEEESST 6 15.73
5] 1819|mYAR K [hIEEIST 6 16.09 5] 61901 |#AE A— |R&P2=F(GE) 6 16.05
6] 1200|AM@ #HhiE [EXD2=7F 6 16.43 6] 1201|k% & [KRED1=7F 6 16.20
7 11215 s HRJ 6 18.60 7] 18191k M  [hILEESST 6 17.03
1201[II7E #F [REY1=7F 6 DNS 8| GIOT0[AAR WA | AMBEFG 6 18.30
3|1 T217[#AFF B} [k K 6 14.29 4] 1] 18013 MAEL [IhJAC 6 14.59
2| 1849|fE4K B [JXLF—h 6 14.62 2] 1305|&HHMH fEXER [0oh=KSC 6 14.76
3] 91910[=JII # =EBELISTE) 6 15.19 3 1201|&H (% [RHAP2=7 6 14.80
4 1201 |t~ K [E4T [RED2=7 6 15.35 4] 1849|)ieE FH [VXALTF—h 6 14.85
b| 13071|#HM #&Wm |[OXEAC 6 1543 5] 91910|K¥E K |==ELEIST(FH) 6 15.16
6] 1605|MJE Bk [F7RU—bfRuk 6 15.55 6] 1200|#% T~ HE [BADa1=7F 6 15.50
7] 1819|=H #E RIBEESST 6 16.13 7] _1301[t% &+ [2XEAC 6 15.81
8| 1200ty HME [BAS =7 6 16.83 8l 1819UR8 Jeth [hiiBEESS5T 6 16.17
bl 1| 1301|Mpc #hE [JREAC 6 13.84 6] 1[ 18071[FAL & 2I2hJAC 6 13.30
2| 1801 |root=am-2- wx | FRCHJAC 6 13.85 2| 1305[KE} X |UOBMEKSC 6 14.53
3| 120150 B [KRHAD2=7F 6 14.25 3] 1301 (48 WA |OXEAC 6 14.58
4] 1849|t/F H¥ |[UXLF—t 6 14.91 4] 1819|t=f B|HR [RLEEIST 6 15.41
b 1216[&% A%t BEAC 6 15.97 5| 91910|9&% [FEg  |[=EBELEI5T(H) 6 15.46
6] 1305|E =i VLA =KSC 6 16.13 6] 1200[8%M =& [BAD2=7F 6 15.82
7] 1819|7AH REH [RLBEESIST 6 17.75 7] 1705|{EmE 5iE  |BR@a) FRAKyN-R 6 16.66
1121[XMH #%  [HRJ 6 DNS 8] 61901 dkih WAX |#E;Ia—F(EF) 6 17.00
711 1216[5m =& A1EAC 6 1363 8] 1] 1200|=gF H5dk [®ATa=7 6 14.74
2] 61201[7E1L #R¥E  [FU/NE(R) 6 14.24 2] 91910|&AK &Rk [=%ELI5TF) 6 14.89
3| 1104[)Il #He [BEIST 6 1553 3 1201[ilia #F [KREADa2=TF 6 15.03
4] 1200{## ZX [BAV2=7 6 15.60 4] 1819[#0 M [AILEELIST 6 15.19
5] T1305[FH #& [05AFEKSC 6 16.10 b T104|2X BE [BEEIST 6 15.25
6] 1819|FHM ke [hUPEEHIST 6 16.77 6] 1801|Rik BEE [@<hHJAC 6 16.10
7] 61901|Eilk #%k [REO21-7(E) 6 16.98 7] 61901 X% I8 |[REC2=F(GD 6 16.16
Bmx * BHLH KL —XOBREST
B &S | K % B £ o
1] 1216 |&Hh = HiEAC 6 13.08
2| 1801 |FAL #f ZIZHhJAC 6 13.30
3| 1301 |Mjor #EE |[JREAC 6 13.84
4] 1801 |ryotv=eor-2- wn |72I2HJAC 6 13.85
5| 61201 [AIL #¥8 |F/NEGR) 6 14.00
6] 1217 |3 3 [k K 6 14.07
7] 1216 [[EA % |[HHEAC 6 14.11
8 1801 |[JtE K¥  |ISHJAC 6 1425
1201 |5l 5B [REYaA=F 6 '
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k= |31 _ _ _
& 5 #- |UBLL) 5 EE #- [(BLL)
| 48 [lIB BE | K £ FRE o4 | FEk IIE B4 K £ R4 o4 | SRE%
91303|f@#F MAF [ZF—TDz4(4(Fx) bH 1 1119|465 %A MHA/E 5 1
1 91303 (AR IH# SLF—UzA(H) 5 2 11.00.97 2 1T19|/RE = BHAR/E 5 2 [1.02.13
91303 [1EIE #& SLFE—Iz4(x) 5 3 1119|& mpss BHR/E 5 3
91303 |#E MER [SIF—UA(F) 5 4 1119|8IFF 2 BARSE 5 4
71121 [{EER #£2& [HRJ-HA 5 1 61305|%H Yk UM =KSC-5A 5 1 |DQ
3 T1121|ESH BER HRJ-5A 5 2 11.02.63 61305|F1L BH VoM =KSC-5A 5 2 |#1.0077
1 121 EE & HRJ-5A 5 3 61305|E+ BEFN VSMKSC-5A 5 3 [3—4 3mover
J1121 IR =MW HRJ-H5A 5 4 61305 |ME 2 VoM f=KSC-5A 5§ 4
180118 EMl |[&IcHJAC 5 1 |DQ T1217|&H KB FKADA 5
il 1801 (#HE BAFE |[&IHJIAC 5 2 |#101256 71217 M E L FEE  [3RA5A 5 DNS
1801|821l #¥ RIZHJAC 5 3 [s—4 1mOvER T1217 | KAk BRE FKABA 5
1801 |fER ¥E RIZHJAC 5 4 J1217|% 8 BRE FRARDA 5
71200[i&H HZFE= %$°)1:7—5A 5 1 1849 Sﬁu:% &% YR LT7—k 5 1
1 71200(=HE M BATCa=7-5A 5 2 [1.00.80 2 1849|7\HF sk YALT—bk 5 2 ]1.05.31
T1200| /%A #EX BARY2=7-bA 5 3 1849|9R&h ZFK YRLT—h 5 3
712002 mA= BACa=7-5A 5 4 184954 #M YALT—k 5 4
61305(hE Bk VM =KSC-5B 5 1 7181971 £3% FuEESST-5A b 1
3 61305/l &K ObM=KSC-5B 5 2 [1.06.41 4 71819 &R /NE  |HILPELESTT-5A b 2 |[1.06.46
2 61305|F# &Hht |[OBEH7KSC-5B 5 3 71819|4b8% EE fEESZT-5A 5 3
61305|3 K FT#& UM KSC-5B 5 4 71819|@AR RETE FLEEESST-6A 5 4
1203/ e ETHE  |BEIRAC 5 1 1705|HHE BE#F |y 3xkyn-2" 5 1 [DQ
2 5 1203|/RME & HEAC 5 2 [1.09.24 1705| KA X3 Ry SARyN-2" 5 2 |&%1.0591
1203(#F mam EJRFAC 5 3 1705(A $HE  |REEY IAKRYN-2" 5 3 [1-2 3mshort
1203|40)1| E¥E EJRAC 5 4 1705|AF #£ BrEgs SAKynN-2" 5 4
712161k BEE F1EAC-C 5 1 1523[#)1l %A K#%SC 5 1
1 71216|8 0 ¥1E F1EAC-C 5 2 [1.06.39 2 16523 | Ak B K#SC 5 2 |[1.06.46
71216(# £ AN FH1EAC-C 5 3 1523|H A 318 R#SC 5 3
71216|ER &AE H1EAC-C 5 4 1623|854 F07E K#SC 5 4
T1602|ERNI &t |[RAZE—HA 5 1 261916| LM #0sE BERE_(R) 5 1
3| 71602|KTF #= RKE—HA 5 2 [1.06.85 4 | 261916|HAK HAFEEFE |BEREE=(R) 5 2 |1.1452
3 71602|E)1 oY |RKE—BA 5 3 261916|F 1R &=#D BFERE () 5 3
71602|#%E B8 RAE—HA 5 4 261916|FHJII &7 BERE— G 5 4
61305(HHF 2 UM =KSC-5C 5 1 1DQ
8 61305 mxE DM =KSC-5C 5 2 [8#1.06.26
61305/ 8 =fA UBM=KSC-5C 5 3 [3—4 1mOVER
61305[ 1A SR UM =KSC-6C 5 4
| T T
I {3z =5 | K £ ____EA 2 a- [EREk JIE | 7 | K £ FE4 I it
712000B# HEx |[BAPa1=7-5A 5 1 91303|&@H MRF [ZL+¥—7z4((xR) bH 1
1 71200| &4 FEH EARCa=F7-5A 5 2 2 | 91303|#AX HHE LF—UzA(R) 5 2
712004 #EHX BAY21=7-5A 5 3 [1.00.80 91303 |1EIE # SLF—TA(R) 5 3 |1.00.97
71200 RAZE= BEAXCa1=7-bA 5 4 91303 [#MiE #MWEFER |ZLF—u((x) 5 4
1119|455 %A BHAE 5 1 T1121[fEER #2k [HRJ-HA 5 1
3 1TT19|{RiE =84 BHARE 5 2 4 71121|ES BER HRJ-5A 5 2
& 1119|& [hss MHIE 5 3 [1.02.13 121 RE & HRJ-5A 5 3 [1.02.63
1119(BIFT ®aZe BHRE 5 4 71121[ILF =N HRJ-5A 5 4
1849 S £ YA LT—hk 5 1 71216|{Ee BE= F1EAC-C 5 1
2] 5 1849|7\FH R YAXLT—h 5 2 6 71216(% 0 ¥t F1EAC-C 5 2
1849(7R&h ZFiK YA LT—hk 5 3 [1.05.31 71216|# £ &N F1EAC-C 5 3 [1.06.39
184954+ M YALT—hk 5 4 71216|ER &BE F1EAC-C 5 4
61305 @ Bk VbM=KSC-5B b 1 15231l #EA R#SC 5 1
7 61305[/MIl &K UM =KSC-bB 5 2 8 1523| Ak B K#SC 5 2
61305(F# &Hhta |UoHzKSC-5B 5 3 [1.06.41 1623 |8 A BB K#SC 5 3 [1.06.46
61305|% F{& OoM=KSC-bB 5 4 1523|185 F0fE K#SC 5 4
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3 71121 (EME EX HRJ-5A 5 2 |59.55 4 71217| & S RKARSA 5 2 [1.00.01
1 7121 EE K HRJ-5A 5 3 T1217(F&FK WK |ZRALA 5 3
71121 X8 N HRJ-5A 5 4 71217|IR1& AR RADLA 5 4
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Bl 5 61305(BE - UM KSC-5A 5 2 [1.00.60 6 71216 |3EH FEE F1EAC-C 5 2 [1.01.10
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71121[&E8h XX HRJ-5D 5 4 61237 |4 BAM |—FWITXFG) b5 4
261916 |18 & BFRE5B() b
261916(888 IS |E2HEBE=5B(R) 5 DNS
261916|&JIl RAE |B¥REZSB(ER) 5
261916|I8 T |Eme—bB() 5
1618 X2 KA 5 1 1104~ \E%/R £ EEIZT 5 1
1 1618|411 18 KA 5 2 |1.01.87 2 1104|F%) 7—B8 |BEESZT 5 2 [1.0252
1618|/\B % # |kBALE 5 3 1104|488 R  |BEs57 5 3
1618 |7+ BRIE KEER 5 4 1104k X& EEIST 5 4
1203|AH % EJRAC 5 1 261916|EE2 #5 EB¥RE_LAGR) 5 1
3 1203| Il & EJEAC 5 2 [1.0343 4 [ 261916):Tk Y KREB |[B¥ERE_SLAR) b5 2 [1.03.68
3 1203|X& kK EJRAC 5 3 261916| & 1Kk BEREZLAGR) 5 3
1203[;AIle HEBA EJEAC 5 4 261916| = si- EERE_SAGE) 5 4
291910|5Fk EB= =E5B(XR) 5 1 71121118 —#& HRJ-5E 5 1
([ 5 ]291910|9zk e+ =E5B(XK) 5 2 |1.07.35 6 TI121[FEAN & HRJ-5E 5 2 [1.09.48
291910 |KEH IR =E5B(R) 5 3 71121\ 8 &FE HRJ-5E 5 3
291910 =8 =E5B(&) 5 4 71121 (%= H ZABS [HRJ-5E 5 4
61305|;#H 5A¥E UM =KSC-5C 5
61305|&@JII & UbM=KSC-5C 5 DNS
61305 AR+ ER UM =KSC-5C 5
61305|IBH FiE VoM =KSC-5C 5
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71201 |&FE B WHY1=75A 5 1 1801 |38m % RIZHJAC 5 1
1 71201|FR Kib WHYa1=75A 5 2 2 1801|1Lsp K¥E 7RZHJAC 5 2
71201 (aTH &M WHYa1=75A 5 3 |57.24 1801 | AT 233 RIZHJAC 5 3 [59.29
71201 | A& F2 WHIa2=75A 5 4 1801|(&F # RZHJAC 5 4
T1121|HZE ER HRJ-5A 5 1 71217|%#% BA FKADA 5 1
3 71121|BME EX HRJ-5A 5 2 4 712178 B4 FKABA 5 2
& 71121 EE K HRJ-5A 5 3 |59.55 71217 &5k K [&RALA 5 3 [1.00.01
T1121| E% H.&AN HRJ-5A 5 4 71217 IRl HAR FKADA 5 4
61305(¥AH R UM KSC-5A 5 1 71216[ Lt w3k F1EAC-C 5 1
2]5 61305|8& &= UbM=KSC-5A 5 2 6 71216|3EH EE FHEAC-C 5 2
61305(=xk 3 UM KSC-5A 5 3 [1.00.60 71216(m% RABS |[HEAC-C 5 3 [1.01.10
61305 Bk Eth UbM=KSC-6A 5 4 71216])11% EEABR | FH1EAC-C 5 4
1618((8k KB |tBEE 51 TTO4[NEFR 2 |BEr57 51
7 1618141l 18 FEAE® 5 2 8 1104|501 R—B8 (BEEVST 5 2
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7| 71217\uE HAT  |TAGA 6 2 [59.04 61305(dbft 2= VHHT=KSC-A 6 DNS
71217|B8A PHE FHABA 5 3 61305|1L B VBM=KSC-A 6
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291910[F)NI FH =EAR) 6 1 71216| &= =F FH1EAC-A 6 1
1 [291910|%t #5 =EARE 6 2 [57.49 2 | 71216|@@x bBEL F1EAC-A 6 2 |57.60
291910|=m EF =EAR) 6 3 71216|H 8 &R FH1EAC-A 6 3
201910|dJIl frE= =EAE 6 4 71216 |tk B% F1EAC-A 6 4
71602[=vA ¥E |RAXZ—6A 6 1 1311|EE &%  [KBKSRC 6 1
3 71602|EfR H2 RKE—GA 6 2 |58.26 4 1311 | RF A R EFKSRC 6 2 [1.0225
2 71602|BF BEH RKE—6A 6 3 1311 |EF %% ZEFKSRC 6 3
71602[fEA gFain RAZE—6A 6 4 13111 #% ZEKSRC 6 4
71819 1LAT ZE SILEESST-6A 5 1 1120|554 #n= ZhxxyS 6 1
#( 5| 71819|HO BEE |HIWELEIST-6A 6 2 [1.04.89 6 1120|FHE B Bty 6 2 [1.04.92
71819|/E Tt fILEEESST-6A 5 3 11208 K3E ShxEyS 6 3
71819(H 0 BATEE |HIUEESST-6A 6 4 1120|Hd BB BhzxryS 6 4
61237 1LE BE ZEWALTRF(GR) 6 1 71301 EHE »aR JAEAC-A 6
7| 61237\ OE ZEHMAT&F(R) 6 2 |1.06.10 71301 EHA £4 |2ATAC-A 5 DNS
6123741l #r3 TEBAAT&FG) 6 3 71301 [{£8E EH1E JAEAC-A 5
61237|=% 3 “EWAT&FGE) 6 4 71301 |ER && JZEAC-A 5
71201 | &8 Z#l WHY1=768B 6 1 T1217/NE E=R KA6B 6 1
1 71201 (2@ B¥ WH1=768B 6 2 |5853 2| T1217|)Ix =& K68 6 2 |59.86
71201 |8 % WHY1=76B 6 3 71217 (%) 48 RA6B 6 3
71201 |62 1530 WHI1=768B 6 4 712178 kK3E RA6B 6 4
71702[1lig £ |[®RM7yIA-B 6 1 71200 EE EXT1=7-B 6 1
3| 71702|@% &HH FEM7YTN-B 6 2 |1.0057 4 | 71200\ K& & BEAC2=7-B 6 2 |1.02.01
3 717024 KT |RMTYT LB 6 3 71200| K% #RE EAXT1=7-B 6 3
71702\ IuA BB |RM7yIL-B 5 4 71200| &)1 #8 EAY1Z7-B 6 4
1514|E ZLiE FIRERC 5 1 71216|BEEB = FH1EAC-B 6 1
#( 5 1514|FER 5% PFEREHRC 6 2 [1.0249 6 | 71216| k& %% FH1EAC-B 6 2 |1.0257
1614|FRIE &E FBERC 6 3 71216|3TH #kE FH1EAC-B 6 3
1514|885 %Jm PEBREHRC 6 4 71216|f1@ F F1EAC-B 6 4
71217|&2 =IE FHA6C 6 1 71602|ER E= RKE—6C 6 1
7| 7T1217|E =# HKA6C 6 2 [1.0551 8 | 71602|F=x 4HF |RAZE—6C 6 2 |1.08.85
217\ KN & FKAR6C 5 3 716028 £ RAKE—6C 6 3
71217(=¢ HE HKA6C 5 4 71602\ 4444 £z RXRE—6C 6 4
91303|&H Ek#H SLF—IzA(xR) 6 1 71200 #H EE,T EAXT1=7-C 6 1
1 91303 | /A ke ILFE—Tz4(x) 6 2 [57.27 2| 71200(E&x ¥E BARYa2=7-C 6 2 |58.71
91303|f@+ W& LF—IzA(x) 6 3 71200|2H BF EAXT1=7-C 6 3
91303|2F5] EF SLE—vIA(E) 6 4 71200| @ F& EAY1=7-C 6 4
1849 E# KB YR LT —K 6 1 1605[EHZE Zo#  [7RU—FERwb 6 1
3 1849(;FH+ 1&HB DALTF—h 6 2 [58.81 4 160528 HX 7 A=kt 6 2 |1.01.57
4 18495TF Hisk YR LT —k 6 3 1605(lLE KRE VU S SN 5 3
1849 | Tk [JXLT7—h 6 4 1605| %N %% 7 A —hrwbk 6 4
71602 | %A =8 RKE—6B 6 1 261910[A Z= FAFBELAGR) 6 1
#(| 5| 71602|k% BE RAE—6B 6 2 [1.0263 6 | 2619104t &#F FEWBEEAR) 6 2 [1.04.20
71602 |1% X= RKE—6B 6 3 261910|3# mIRK |FAWBELAGR 6 3
71602[ATH BE |RAZE—68B 6 4 261910( B #HE FABBELAG) 6 4
291910[&ER %a ==B(%) 5 1 261916|fEE %43 BZERE = () 6 1
7 | 291910|FH M |==EB(Z) 5 2 [1.0556 8 | 261916|%11 &E 1E2mEE — () 6 2 |1.07.72
291910(3& #F ==B(%) 6 3 261916|FA@ BE BERE () 6 3
201910|M& +F =£BX) 5 4 261916|B KX AnE |E¥EE_ () 6 4
| - x-
E{y] %ﬁn K £ E% E‘ 2 - |E06 kv %ﬁm 2 E£ = =t
TRE e ukEEDJ:E%A 5 1 = ME ﬂ'}’%:. SIEL = JA 51 =
1 71201 |f L =36 WHP1=76A 6 2 2 1801 | KA FEK |[@ZHJIAC 5 2
71201 | K# HK WHP1=76A 6 3 [55.68 1801|4588 BEE |[RIzHJIAC 6 3 |56.35
71201 |EH% skbE  |IREAYa—=76A 6 4 1801 [1L1R 283 AIZHJAC 6 4
61201 [a1/H 2 T NE(R) 6 1 91303|EH %% SLEF—oIA(&®) 6 |1
3| 61201 |=EIs =T FNEE(R) 6 2 4 [ 91303|&FA KkE SLF—A(R) 6 2
i 61201 |83 BEERE |[FR/NE(R) 6 3 [57.13 91303 |+ A SLF—vrA(R) 6 3 |57.27
61201 |deH BHE FNEE(R) 6 4 91303|7E =& SLE—A(H) 6 4
291910(ZF /Il TH =EAE) 6 1 71216|=% =F FHTEAC-A 6 1
£ | 5 |291910|sh #F =EAE 6 2 6 | 71216|Ex Ba& FH1EAC-A 6 2
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7| 711702|R#E = RINTYTIL-A 6 2 8 | 71602|=fr %5 REAREZ—6A 6 2
71702|&3 4T |RM7YTIL-A 6 3 [57.89 71602|E2K & REAREZ—6A 6 3 |58.26
71702|0FA fE% SWFYTI-A 64 71602[%8A& &N RICE—6A 64
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1801 & 1= hJAC 6 71216|=6M = FiEAC-A 6
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3| 61305\ A= VSAEKSC-A 6 55.55 4 | 71217|%F* 3t FABA 6 55.95
1 61305(/KB X VDoMKSC-A 6 11217|EX RmE HAR6A 6
61305|JIIE —% VEMKSC-A 6 712174 = FABA 6
291910(Z /)1l M =2AE) 6 T849[/1[E8 Rl JXLT7—F 6
| 5| 291910%mF = =2AE) 6 57.41 6 1849|1# &= R LT —h 6 58.11
291910|h#% EiE =2AE) 6 1849| TR M¥ R LT —h 6
291910|&& fEX EAEE) 6 18492 A B [URLF—F 6
71201 k2K BT |KRHES1=76A 6 71200 BB = FoO1=7-A 5
7 | 71201(x=@E 4% WHES1=76A 6 58.20 8 | 71200|=k B EARTC2=7-A 6 58.79
71201 |25 SEE DKEE/:L—76A 6 71200(#2F #RER EARTC2=7-A 5
71201 % 1=76A 6 71200 = EAS—F-A 6
71605 | e — 71% A 5 61300 | Mg Eair Do FEKoC B . 6
1| 71605|# L &= FAY-FRUMA 5 58.51 2| 61305(=MH AL |05M=KSC-B 6 58.69
71605 [#E Frk FAY-FRUMA 6 61305|ME Mk VEMEKSC-B 6
71605|A0—1 AL+ |7RY-bAURA 5 61305|/K% A VSN EKSC-B 6
TI217|FE WA SZ N 6 71200 > EAT1-7-B 6
3| 71217|Lf EAE |%A6C 6 1.00.31 4 | 71200|86@ =& EAXT21=7-B 6 1.02.52
2 71217320 =& F#AR60 6 71200|BEH =X EAS1=7-B 6
7121701 & FA6C 6 71200|#%T s EAS21-7-B 6
T1819[ A Bt LELZ57-B 6 61901 | A& B3 REO1=7(R) 6
M| 5| 71819|mys Ex [HIWLELSST-B 6 1.03.47 6 | 61901|EE W5 mHO1=T7(R) 6 1.03.95
718198 Hih HIEESST-B 6 61901 |HE A— RHO21=T(x) 6
71819|%2f = HIEFSST-B 6 61901 |deis SEA = =—7GR) 6
T203|5KH 27t HRAC 5 761910]|LF & FLEBRE FB(R) b
7 1203| 4 BE HEAC 6 1.08.09 8 | 261910|AM & —'J'—,uiﬁ}ZIKEI%_LB(R) 5 1.10.06
1203| &M 1% HEAC 5 261910| =+ E iﬁ}ZI%IEJ:B(R) 5
1203 EpET 7B | EJEAC 6 261910/ fE38 IBE) 6
71301 |5 VEA TATAC-A 5 TI04| =2 5
1| 71301|%E ZW JAEAC-A 6 58.29 2 1104 5 59.36
71301 |58 B JZEAC-A 6 1104 6
71301 |f3r e JZEAC-A 6 11048 6
TI217| %A A %A 6B 6 18193 6
3| 71217|@N HiE HA6B 6 59.93 4 1819 6 1.00.74
3 71217| &8 #RE %A 6B 6 1819 6
712174848 Z=pk % A6B 6 1819 6
61305 BBk USAFEKSC-C 6 T910]3 6
Ml 5| 61305|E@ = V5AEKSC-C 6 1.00.76 6 910|HE 6 1.05.84
61305|ME I8 V5AEKSC-C 6 910 6
61305| L E% VSNEKSC-C 6 910 6
1311|538 0wk ZTBKSRC 6
7 1311|fA& IEARE |3EKSRC 5 1.07.46
AR e %g“ ZEoRe 2
ISEEEREIL: BB 3 201010 | 8 X% 5
1 1514|%F #w FEBHRC 6 1.00.57 2 1291910|% &z 6 1.01.42
1514|885 =3t PHEREBHRC 6 291910[1Lpy B4 6
1514\ E# H B BRC 5 291910| K78 [iifm =B(Z= 6
71201 [EE =88 KE1—768 6 71605|HS k& ZUES ST 5
3| 71201 iuo #E WES1=76B 6 1.02.28 4 | 71605|== =kt 7AY-prybB 5 1.02.86
4 71201 |58 =i WHAS1=76B 6 71605|/\ih % 7AY-prybB 5
71201 |HE =¥ KA1 =768 6 71605|883%, SAAED [7RU-pUIB 6
7130132 A& fEqr JATAC-B 6 T1216| A0 = FHTBAC-B 5
#| 5| 71301|%k ISAER [21REAC-B 6 1.03.16 6 | 71216|F% K&t FH1EAC-B 6 1.06.17
71301|=K HiE JZEAC-B 6 71216 (%% i FH1EAC-B 5
71301 |F £ 7 JXEAC-B 6 712161+ ek F18AC-B 5
T1819[5B/K MEF FLEL75I-C 6
7 | 71819|AME mm HILELSST-C 6 1.10.76
71819| =+ #¥Z HILEESST-C 5
71819\/\f5 FELY HIEFHZT-C b
|E #- |UE A-
B /E K £ IE4 I G B {7 = K R4 ¥ 4- &
1801 |WB AR |&l<HJAC 6 71216|@T A& F1EAC-A 5
1 1801 |779rs291-2- B #2124 JAC 6 54.91 71216\ A% FiEAC-A 6 55.24
1801|dt& x& #IzhJAC 6 71216[EKX &% F1EAC-A 6
1801 |7 Iz JAC 6 712165 & F1EAC-A 6
61305 BE¥ USAFEKSC-A b 71217 B0 XK FA6A 6
3| 61305\#c K= VBAEKSC-A 6 55.55 4 | 71217|#F gt FA6A 6 55.95
& 61305|/K% HEA VHAEKSC-A 6 71217|BEX =& FA6A 6
61305|)IIE —% USAEKSC-A 6 71217 |54 & FA6A 6
297910| &=/l # =2AE) 6 1849|)I[E &Hhif JRLT—k 6
2| 5| 29191018 = =EAX) 6 57.41 6 1849+ = R LT —h 6 58.11
291910|%x E# =2AE) 6 1849| L M¥ URLT—h 6
291910|# A& fEX =EA) 6 18494k B [URLF—b 6
71201 k4K BEfT |WAS1=76A 6 7160528 —& 7AY-pryMA 5
7| 71201|%km@E %% KA1 =76A 6 58.20 8 | 71605|3#F f&= FRY-phyhA 5 5851
71201 |85 4BE WHAY1=76A 6 71605 |#AE FRY-prybA 6
71201 |18 % KES1=76A 6 71605 [A43—1 FEvF|7RU-FRybA 5
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71602|F L &Rx RAE—4A 4 1 71201 | H E|£ WHY1=74A 4 1
1 71602|/TEH EH RAE—4A 4 2 [1.0422 2 | 71201 |5H B WHS1=74A 4 2 11.06.50
71602|FE X8 RAE—4A 4 3 71201 |FH 15% WHEYa1=74A 4 3
71602[{BAX F= RRE—4A 4 4 71201 [EH B WHAS1=74A 4 4
291910|1#% & =F4A(X) 4 1 71702k EH RMT7vTL-C 4 1
3 | 291910(#HE &FH ==24A(H= 4 2 [1.06.62 4 T1702|A¥s KEHE |RMT7yTL-C 4 2 11.07.50
1 291910 KR+ B =ZF4A(R) 4 3 71702({HR  FI& RMT7YTL-C 4 3
291910|=1F x= =F4A(E 4 4 J1702|RE  Fd FM7YTN-C 4 4
26191650 E.Z EBERETIAGE) 4 1 13117 it X EKSRC 4 1
Bl 5 |261916|=3+H 1= E¥RE=IAR) 4 2 (1.08.28 6 1311 lLA EaE RZEKSRC 4 2 11.08.30
261916 |3 =i EBEREZAIAGE 4 3 13111 HED | KEPKSRC 4 3
261916|8K & BEFEREZIAGE) 4 4 1311 |&EH FEK [KFHKSRC 4 4
71200(/MER =P [BERD21=TF-4A 4 1 61305[H Il —Z UM =KSC-4A 4 1 |DSQ
7 71200(BHE KFXE [(BEAD1=T7-4A 4 2 [1.09.50 61305| LA —Z VoM =KSC-4A 4 2 |5#1.0766
71200(E@ H= BARYaz=7-4A 4 3 61305 | ##&F UBMEKSC-4A 4 3 |1-2 1mover
71200 G0 B EACIZF7-4A 4 4 61305| 518 &= DOMN=KSC-4A 4 4 |3—4 1mover
6123731l & ZEBAT&F(R) 4 1 T1602|2E 27 RAZ—4B 4 1
1 61237(HAN FE ZEWAT&F(ER) 4 2 [1.08.04 2 71602|F 1 #0318 RAE—4B 4 2 11.10.01
6123738 18 ZEWATF(R) 4 3 71602| =R %5 RARE—4B 4 3
61237 |HE HEE [“EBIT&FE) 4 4 71602[BES 5 [RKZE—4B 4 4
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